Fixed Point Theory, 12(2011), No. 2, 235-240 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.html

FIXED POINT THEOREMS OF EXPANSIVE TYPE MAPPINGS IN MODULAR FUNCTION SPACES

M. ABBAS*, S.H. KHAN** AND A. RAZANI***

*Department of Mathematics, Lahore University of Management Sciences (LUMS) Phase-II, Opposite sector U, DHA Lahore Cantt., Lahore-54792, Pakistan. E-mail: mujahid@lums.edu.pk

**Department of Mathematics, Statistics and Physics, Qatar University, Doha 2713, Qatar. E-mail: safeerhussain5@yahoo.com

***Department of Mathematics, Faculty of Science, Imam Khomeini International University, Postal code: 34149-16818, Qazvin, Iran. E-mail: razani@ikiu.ac.ir

Abstract. In this paper, the existence of fixed point of expansive type mappings is studied in modular function spaces.

Key Words and Phrases: Fixed point, expansive mappings, modular function space. 2010 Mathematics Subject Classification: 47H10, 54H25, 54C60, 46B40.

1. INTRODUCTION

The theory of modular spaces was initiated by Nakano [11] in connection with the theory of order spaces which was further generalized by Musielak and Orlicz [9] (see also [10]). The fixed point theory for nonlinear mappings is an important subject of nonlinear functional analysis and is widely applied to nonlinear integral equations and differential equations. The study of this theory in the context of modular function spaces was initiated by Khamsi [5] (see also [1] and [4]). Kumam [7] obtained some fixed point theorems for nonexpansive mappings in arbitrary modular spaces. Recently, Kutabi and Latif [8] studied fixed points of multivalued maps in modular function spaces. The objective of this paper is to prove some fixed point theorems for expansive type mappings in modular function space. Due to this, some basic facts and notations about modular spaces are recalled from [6].

Definition 1.1. Let X be an arbitrary vector space. A functional $\rho : X \to [0, \infty]$ is called a modular if for any arbitrary x, y in X

- $(m_1) \ \rho(x) = 0$ if and only if x = 0.
- $(m_2) \ \rho(\alpha x) = \rho(x)$ for every scalar α with $|\alpha| = 1$.

 $(m_3) \ \rho(\alpha x + \beta y) \le \rho(x) + \rho(y) \ if \ \alpha + \beta = 1, \alpha \ge 0, \beta \ge 0.$

If (m_3) is replaced by $\rho(\alpha x + \beta y) \leq \alpha \rho(x) + \beta \rho(y)$ if $\alpha + \beta = 1, \alpha \geq 0, \beta \geq 0$ then ρ is called convex modular.

235

The vector space X_{ρ} given by $X_{\rho} = \{x \in X; \ \rho(\lambda x) \to 0 \text{ as } \lambda \to 0\}$ is called a modular space. Generally, the modular ρ is not sub-additive and therefore does not behave as a norm or a distance. One can associate to a modular an F-norm.

The modular space X_{ρ} can be equipped with an F-norm defined by

$$||x||_{\rho} = \inf\{\alpha > 0; \rho(\frac{x}{\alpha}) \le \alpha\}.$$

When ρ is convex modular, then $||x||_{\rho} = \inf\{\alpha > 0; \rho(\frac{x}{\alpha}) \le 1\}$ defines a norm on the modular space X_{ρ} which is called the Luxemburg norm.

Define the ρ -ball, $B_{\rho}(x, r)$, centered at $x \in X_{\rho}$ with radius r as

$$B_{\rho}(x,r) = \{h \in X\rho; \rho(x-h) \le r\}.$$

A point $x \in X_{\rho}$ is called a fixed point of $T: X_{\rho} \to X_{\rho}$ if T(x) = x.

Definition 1.2. A function modular is said to satisfy the Δ_2 -type condition, if there exists K > 0 such that for any $x \in X_{\rho}$, we have $\rho(2x) \leq K\rho(x)$.

Definition 1.3. Let X_{ρ} be a modular space. The sequence $\{x_n\} \subset X_{\rho}$ is called:

(t₁) ρ -convergent to $x \in X_{\rho}$, if $\rho(x_n - x) \to 0$ as $n \to \infty$.

(t₂) ρ -Cauchy, if $\rho(x_n - x_m) \to 0$ as n and $m \to \infty$.

Note that, ρ -convergence does not imply ρ -Cauchy since ρ does not satisfy the triangle inequality. In fact, this will happen if and only if ρ satisfies the Δ_2 -condition. We know that [1] the norm and modular convergence are also the same when we deal with the Δ_2 -type condition. In the sequel, suppose the modular function ρ is convex and satisfies the Δ_2 -type condition. We also state the following definition and results given in [2] (see also, [3]).

Definition 1.4. The growth function w_{ρ} of a function modular ρ is defined as:

$$w_{\rho}(t) = \sup\left\{\frac{\rho(tx)}{\rho(x)}, x \in X_{\rho} \setminus \{0\}\right\} \text{ for all } 0 \le t < \infty.$$

Observe that $w_{\rho}(t) \leq 1$ for all $t \in [0, 1]$.

Lemma 1.5. The growth function ω has the following properties:

- $(g_1) \ \omega(t) < \infty, \text{ for each } t \in [0, \infty).$
- $(g_2) \ \omega: [0,\infty) \to [0,\infty)$ is a convex, strictly increasing function. So, it is continuous
- $\begin{array}{ll} (g_3) \ \omega(\alpha\beta) \leq \omega(\alpha)\omega(\beta); \ for \ all \ \alpha, \beta \in [0,\infty). \\ (g_4) \ \omega^{-1}(\alpha)\omega^{-1}(\beta) \ \leq \ \omega^{-1}(\alpha\beta); \ for \ all \ \alpha\beta \ \in \ [0,\infty), \ where \ \omega^{-1} \ is \ the \ inverse \end{array}$ function of ω .

The following lemma shows that the growth function can be used to give an upper bound for $||x||_{\rho}$ for each $x \in X_{\rho}$.

Lemma 1.6. Let ρ be a convex modular function satisfying the Δ_2 -type condition. Then

$$\|x\|_{\rho} \leq \frac{1}{\omega^{-1}(\frac{1}{\rho(x)})}, \text{ whenever } x \in X_{\rho}.$$

2. FIXED POINT FOR EXPANSIVE TYPE MAPPINGS

In this section, some fixed point theorems for expansive type mappings are proved as follows:

Theorem 2.1. Let X_{ρ} be a modular function space. If a surjective mapping $T : X_{\rho} \to X_{\rho}$ satisfies

$$\rho(Tx - Ty) \ge a_1 \rho(x - y) + a_2 \rho(x - Tx) + a_3 \rho(y - Ty)$$

for all $x, y \in X_{\rho}$ with $x \neq y$, where $a_1, a_2, a_3 \geq 0$, $a_2 < 1$ and $a_1 + a_2 + a_3 > 1$. Then T has a fixed point in X_{ρ} .

Proof. Suppose x_0 is an arbitrary point of X_{ρ} . Since T is surjective, there is $x_1 \in X_{\rho}$ such that $x_0 = Tx_1$. Also, there exists $x_2 \in X_{\rho}$ such that $x_1 = Tx_2$. Continuing this process, having chosen x_n in X_{ρ} , we can choose x_{n+1} in X_{ρ} such that $x_n = Tx_{n+1}$. Assume that for any $n = 0, 1, \dots, x_{n-1} \neq x_n$. Otherwise, if there is n_0 such that $x_{n_0-1} = x_{n_0} = Tx_{n_0-1}$, then x_{n_0-1} becomes a fixed point of T and the result is proved. Now

$$\begin{aligned}
\rho(x_{n-1} - x_n) &= \rho(Tx_n - Tx_{n+1}) \\
&\geq a_1 \rho(x_n - x_{n+1}) + a_2 \rho(x_n - Tx_n) + a_3 \rho(x_{n+1} - Tx_{n+1}) \\
&= a_1 \rho(x_n - x_{n+1}) + a_2 \rho(x_n - x_{n-1}) + a_3 \rho(x_{n+1} - x_n),
\end{aligned}$$

which further implies that $(1 - a_2)\rho(x_{n-1} - x_n) \ge (a_1 + a_3)\rho(x_n - x_{n+1})$. Thus $\rho(x_n - x_{n+1}) \le h\rho(x_{n-1} - x_n)$, where $h = \frac{1 - a_2}{a_1 + a_3} < 1$. By continuing this process we get that $\rho(x_n - x_{n+1}) \le h^n \rho(x_0 - x_1)$. Hence

$$\frac{1}{h^n \rho(x_0 - x_1)} \le \frac{1}{\rho(x_n - x_{n+1})}.$$

Since ρ is a convex function modular satisfying the Δ_2 -type condition we have

$$||x_n - x_{n+1}||_{\rho} \le \frac{1}{w^{-1}(\frac{1}{\rho(x_n - x_{n+1})})}.$$

Since

$$w^{-1}(\frac{1}{h^n\rho(x_0-x_1)}) \le w^{-1}(\frac{1}{\rho(x_n-x_{n+1})})$$

from (g_3) we obtain

$$w^{-1}(\frac{1}{h})^n)w^{-1}(\frac{1}{\rho(x_0-x_1)}) \le w^{-1}(\frac{1}{\rho(x_n-x_{n+1})}).$$

Therefore

$$||x_n - x_{n+1}||_{\rho} \le \frac{1}{w^{-1}(\frac{1}{h})^n w^{-1}(\frac{1}{\rho(x_0 - x_1)})}.$$

Since w(1) = 1 and h < 1 then $1 < w^{-1}(\frac{1}{h})$. Hence $\{x_n\}$ is a Cauchy sequence in $(X_{\rho}, \|.\|_{\rho})$. Since $(X_{\rho}, \|.\|_{\rho})$ is complete so there exists $x \in X_{\rho}$ such that $\|x_n - x\|_{\rho} \to 0$. Moreover, Δ_2 -type condition implies the equivalence of norm and modular convergence. Therefore $\rho(x_n - x) \to 0$ as $n \to \infty$. Since T is surjective on X_{ρ} , there exists j in X_{ρ} such that x = T(j). Without loss of generality, for any n we assume that $x_n \neq x$. Thus

$$\begin{aligned}
\rho(x_n - x) &= \rho(Tx_{n+1} - Tj) \\
&\geq a_1\rho(x_{n+1} - j) + a_2\rho(x_{n+1} - x_n) + a_3\rho(j - Tj) \\
&= a_1\rho(x_{n+1} - j) + a_2\rho(x_{n+1} - x_n) + a_3\rho(j - x).
\end{aligned}$$

By taking limit as $n \to \infty$, we have $0 \ge (a_1 + a_3)\rho(j - x)$, which implies that $\rho(j - x) = 0$. Hence j = x = Tj and j is a fixed point of T in X_{ρ} . \Box

Theorem 2.2. Let X_{ρ} be a modular function space and suppose that mapping $T : X_{\rho} \to X_{\rho}$ is surjective and satisfies

$$\rho(T^p x - T^q y) \ge h\rho(x - y), \text{ for all } x, y \in X_\rho$$

where p, q are the integers and h is constant with h > 1. Then T has a unique fixed point.

Proof. Suppose x_0 is an arbitrary point of X_{ρ} . Since T is surjective, there is $x_1 \in X_{\rho}$ such that $x_0 = Tx_1$. Also there exists $x_2 \in X_{\rho}$ such that $x_1 = Tx_2$. Continuing this process, having chosen x_n in X_{ρ} , we can choose x_{n+1} in X_{ρ} such that $x_n = Tx_{n+1}$. Take

$$y_0 = x_0,$$

$$y_{2n-1} = x_{(n-1)(p+q)+q} = T^p(x_{n(p+q)}) \text{ and }$$

$$y_{2n} = x_{n(p+q)} = T^q(x_{n(p+q)+q})$$

Note that, $\{y_n\}$ is a Cauchy sequence in X_{ρ} because

$$\rho(y_{2n-1} - y_{2n}) = \rho(T^p(x_{n(p+q)}) - T^q(x_{n(p+q)+q})) \\
\geq h\rho(x_{n(p+q)} - x_{n(p+q)+q}) \\
= h\rho(y_{2n} - y_{2n+1})$$

which gives that $\rho(y_{2n} - y_{2n+1}) \leq \frac{1}{h}\rho(y_{2n-1} - y_{2n})$. Similarly, $\rho(y_{2n-1} - y_{2n}) \leq \frac{1}{h}\rho(y_{2n-2} - y_{2n-1})$. Thus $\rho(y_{n+2} - y_{n+1}) \leq \frac{1}{h}\rho(y_{n+1} - y_n)$. Since h > 1 we have that $\{y_n\}$ is a contractive sequence. Following the similar arguments to those given in Theorem 2.1, we conclude that $\{y_n\}$ is a Cauchy sequence in X_p . Since X_ρ is complete there, is $y \in X_\rho$ such that $y_n \to y$ as $n \to \infty$. As, T is surjective on X_ρ , one obtains $j \in X_\rho$ such that $y = T^p j$. Moreover

$$\begin{array}{ll}
\rho(y - y_{2n}) = & \rho(T^p j - T^q(x_{n(p+q)+q})) \\
\geq & h\rho(j - x_{n(p+q)+q})) = h\rho(j - y_{2n+1})
\end{array}$$

Letting $n \to \infty$, we have $0 \ge h\rho(j-y)$. Therefore $j = y = T^p(j)$. Also, $j = y = T^q(j)$. To prove uniqueness, assume that $w \in X_\rho$ is a common fixed point of T^p and T^q then

$$\rho(y-w) = \rho(T^p y - T^q w) \ge h\rho(y-w)$$

which implies that y = w. Finally, from $Ty = T(T^p y) = T^p(Ty)$, and $Ty = T(T^q y) = T^q(Ty)$, we conclude that y is a unique fixed point of T. \Box

Theorem 2.3. Let X_{ρ} be a modular function space. If a surjective mapping T: $X_{\rho} \to X_{\rho}$ satisfies

$$\rho(Tx - Ty) \ge a_1[\rho(x - Tx) + \rho(y - Ty)] + a_2\rho(x - y)) + a_3\rho(x - Ty)$$

238

for all $x, y \in X_{\rho}$ with $x \neq y$, where $a_1, a_2, a_3 \ge 0$, $a_1 + a_2 + a_3 > 1$ and $2a_1 + a_2 > 1$. Then T has a fixed point in X_{ρ} .

Proof. Suppose x_0 is an arbitrary point of X_{ρ} . Since T is surjective, there is $x_1 \in X_{\rho}$ such that $x_0 = Tx_1$. Moreover, there exists $x_2 \in X_{\rho}$ such that $x_1 = Tx_2$. Continuing this process, having chosen x_n in X_{ρ} we can choose x_{n+1} in X_{ρ} such that $x_n = Tx_{n+1}$. Assume, $x_{n-1} \neq x_n$, for all $n = 0, 1, \cdots$. Otherwise, if there is n_0 such that $x_{n_0-1} = x_{n_0} = Tx_{n_0-1}$, then x_{n_0-1} is a fixed point of T and the result is proved. We have

$$\begin{aligned}
\rho(x_{n-1} - x_n) &= & \rho(Tx_n - Tx_{n+1}) \\
&\geq & a_1[\rho(x_n - x_{n-1}) + \rho(x_{n+1} - x_n)] + a_2\rho(x_n - x_{n+1}) \\
&+ a_3\rho(x_n - x_n)
\end{aligned}$$

Thus

$$\rho(x_{n+1} - x_n) \le h\rho(x_{n-1} - x_n), \text{ where } h = \frac{1 - a_1}{a_1 + a_2} < 1.$$

Continuing this process we obtain that $\rho(x_{n+1} - x_n) \leq h^n \rho(x_0 - x_1)$. Following the similar arguments to those given in Theorem 2.1, it can be shown that $\{x_n\}$ is a Cauchy sequence in $(X_{\rho}, \|.\|_{\rho})$. Since $(X_{\rho}, \|.\|_{\rho})$ is complete, there exists $x \in X_{\rho}$ such that $\|x_n - x\|_{\rho} \to 0$. Also Δ_2 -condition implies the equivalence of norm and modular convergence. Therefore $\rho(x_n - x) \to 0$ as $n \to \infty$. Since T is surjective on X_{ρ} , there exists j in X_{ρ} such that x = T(j). Without loss of generality, we assume that $x_n \neq x$, for any n. Thus

$$\rho(x_n - x) = \rho(Tx_{n+1} - Tj) \\
\geq a_1[\rho(x_{n+1} - x_n) + \rho(j - x)] + a_2\rho(x_{n+1} - j) \\
+ a_3\rho(x_{n+1} - x).$$

By taking limit as $n \to \infty$, we obtain $0 \ge (a_1 + a_2)\rho(j - x)$, which implies that $\rho(j - x) = 0$. Hence j = x = Tj and j is a fixed point of T in X_{ρ} . \Box

Theorem 2.4. Let X_{ρ} be a modular function space. If a surjective mapping $T : X_{\rho} \to X_{\rho}$ satisfies

$$\rho(Tx - Ty) \ge a_1 \rho(x - Tx) + a_2 \max\{\rho(y - Ty) + \rho(x - y), \rho(x - Ty)\}\$$

for all $x, y \in X_{\rho}$ with $x \neq y$, where $a_1, a_2 \geq 0$ and $a_1 + 2a_2 > 1$. Then T has a fixed point in X_{ρ} .

Proof. Suppose x_0 is an arbitrary point of X_{ρ} . Since T is surjective, there is $x_1 \in X_{\rho}$ such that $x_0 = Tx_1$. Moreover, there exists $x_2 \in X_{\rho}$ such that $x_1 = Tx_2$. Continuing this process, having chosen x_n in X_{ρ} , we can choose x_{n+1} in X_{ρ} such that $x_n = Tx_{n+1}$. Assume, $x_{n-1} \neq x_n$, for all $n = 0, 1, \cdots$. Otherwise, if there is n_0 such that $x_{n_0-1} = x_{n_0} = Tx_{n_0-1}$, then x_{n_0-1} becomes a fixed point of T and the result is proved.

$$\rho(x_{n-1} - x_n) = \rho(Tx_n - Tx_{n+1}) \\
\geq a_1\rho(x_n - x_{n-1}) + a_2 \max\{2\rho(x_{n+1} - x_n), \rho(x_n - x_n)\}.$$

Thus

$$\rho(x_{n-1} - x_n) \ge a_1 \rho(x_n - x_{n-1}) + 2a_2 \rho(x_{n+1} - x_n),$$

which implies that

$$\rho(x_{n+1} - x_n) \le \frac{1 - a_1}{2a_2} \rho(x_{n-1} - x_n).$$

$$\rho(x_{n+1} - x_n) \le h\rho(x_{n-1} - x_n), \text{ where } h = \frac{1 - a_1}{2a_2} < 1.$$

Continuing this process we obtain that $\rho(x_{n+1} - x_n) \leq h^n \rho(x_0 - x_1)$. Following the similar arguments to those given in Theorem 2.1, it can be shown that $\{x_n\}$ is a Cauchy sequence in $(X_{\rho}, \|.\|_{\rho})$. Since $(X_{\rho}, \|.\|_{\rho})$ is complete so there exists $x \in X_{\rho}$ such that $\|x_n - x\|_{\rho} \to 0$. Moreover, Δ_2 -condition implies the equivalence of norm and modular convergence. Therefore $\rho(x_n - x) \to 0$ as $n \to \infty$. Since T is surjective on X_{ρ} , there exists j in X_{ρ} such that x = T(j). Without loss of generality, we assume that $x_n \neq x$, for any n. Thus

$$\rho(x_n - x) = \rho(Tx_{n+1} - Tj)
\geq a_1\rho(x_{n+1} - Tx_{n+1}) + a_2 \max\{\rho(j - Tj) + \rho(x_{n+1} - j), \rho(x_{n+1} - Tj)\}
\geq a_1(x_{n+1} - x_n) + a_2 \max\{\rho(j - x) + \rho(x_{n+1} - j), \rho(x_{n+1} - Tj)\},$$

where by taking limit as $n \to \infty$, we obtain $0 \ge 2a_2\rho(j-x)$, which implies that $\rho(j-x) = 0$. Hence j = x = Tj. \Box

Acknowledgement. The present version of the paper owes much to the precise and kind remarks of anonymous referees.

References

- T.D. Benavides, M.A. Khamsi and S. Samadi, Uniformly lipschitzian mappings in modular function spaces, Nonlinear Anal., 46(2001), 267-278.
- [2] T.D. Benavides, M.A. Khamsi and S. Samadi, Asymptotically regular mappings in modular function spaces, Sci. Math. Jpn., 53(2001), no. 2, 295-304.
- [3] T.D. Benavides, M.A. Khamsi and S. Samadi, Asymptotically nonexpansive mappings in modular function spaces, J. Math. Anal. Appl., 265(2002), no. 2, 249-263.
- [4] M.A. Khamsi, Fixed point theory in modular function spaces, Recent Advances on Metric Fixed Point Theory. Universidad de Sevilla, Sevilla, 8(1996), 31-58.
- [5] M.A. Khamsi, W.M. Kolowski and S. Reich, Fixed point property in modular function spaces, Nonlinear Anal., 14(1990), 935-953.
- [6] W.M. Kozlowski, Modular function spaces, M. Dekker, New York-Basel, 1988.
- [7] P. Kumam, Fixed point theorems for nonexpansive mappings in modular spaces, Arch. Mathematicum (BRNO), **40**(2004), 345-353.
- [8] M.A. Kutbi and A. Latif, Fixed point of multivalued maps in modular function spaces, Fixed Point Theory and Applications, to appear.
- [9] J. Musielak and W. Orlicz, On modular spaces, Studia Math., 18(1959), 591-597.
- [10] J. Musielak, Orlicz spaces and modular spaces, Lecture Notes in Mathematics, 1034, Springer, Berlin, 1983.
- [11] H. Nakano, Modular Semi-ordered Spaces, Tokyo, 1950.

Received: November 24, 2009; Accepted: November 11, 2010.

240

Thus